                                    Scanner  practice.

1. Prompt the user for an amount less than $1.00 and then display  the minimum number of coins necessary to make the change. The change can be made up of quarters, dimes, nickels, and pennies.
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2. Using Scanner object prompt the user for the amount of money they want to invest (P), yearly interest rate(i), the number of years for the investment(n),  and the name. Lets assume the interest is compounded monthly.  Use the formula to calculate the amount of the investment( A) after n years.

                                              A = P(1+[i/12])n*12.

      and display the name and the amount , rounded to 2 decimal places.  

